S24 919 =

-4 96 c2HH g2 72 e A

o
=

ey

rr

7
@ -1 @0 @1 @ 2 ® 3
k- ——I|-~

-

~

e RES

%
y

-4 -3-2-10

“
Y

123456

5 g Afo] o] Al 10 o|m2 Fohe o] Lehi

TE1




o=t

S

o A5 A48 7

a2
5

ddigkol

2.

1,0, 1, 2, 39 77°lH.




2 75

o & Adigko] 71
o, a-b 9 3t

3.

5

2
T T2

1
-, 1+2
3’+

-8, —

Qe
A
H

Qe

ull

A AN

— |

T
2,

B
auziol 7}




Adztol 2 Wb A A5 Fo| A AP 2 5o} AR A S0
T-stofzt,
> [l J

Agigro] - EE}X% J2>=L 2 -1,0,1,2o9[ch
2~
T

SRR




Y

|

t
L4 —

t

@ (+5) + (-8) (@)(+5)—(+9) ® (+5) = (+9)
@ (-5) +(+9) ® (-5) + (+9)

Hgoll AHelA] 2 B2Z 02 57 73 T P& o= 97 Zfo
Dz Moz BHASHT (+5) - (+9) 7F FH




